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HRPOBERY, A4 RADEEDORRFISONT

BERFEERRBDOX L (72 k]
BE RE
AATE X5 12 e 35 _ =k
FHER AU ST )54 1, 2% INET (25+35)
D=0 RAH 9,319 3,932 330 3,098 3,428 7,360
$; BERERERSR 3,113 3,844 605 2,290 2,895 6,739
% 9 |ORD | BRERTTVHHE 7,811 0 0 0 0 0
%f ; NE | #rmEREass 0 0 51 149 200 200
e it 10,924 3,844 656 2,439 3,095 6,939
@-® 1,605 A 388 326| A 659 A 333 A 421
A AEHRAREH 9,140 3,990 365 2,726 3,091 7,081
5 ;E ENERA R 3158| 3,860 595|  2.280| 2875 6735
g 2 (B FIFE| MRERIGLHHE 7,811 0 0 0 0 0
% ; =} HE SRR EEE 0 0 39 124 163 163
5 e &t 10,969 3,860 634 2,404 3,038 6,898
B-A 1829 A 130 269 A 322 A 53 A 183
=X (1) A-D A 179 58 35| A 372 A 337 A 279
= BEREREES 45 16| A10] A10] A20 A4
= ﬁf éf'é REREZ (72U 0 0 0 0 0 0
L HEMBRGRESE 0 0 A 12 A 25 A 37 A 37
2 (A)-(A) 224 A 42 A 57 337 280 238




HRPOBERY, A4 RADEEDORRFISONT

FEHEERRMOR L (D)
BE ®REa
E?&Elzﬁ]\ 1% 2% 3% _ ,I%.E_I_
FHER AN S ()73 1, 2% INET (25+35F)
DENDRAH 1,786 1,101 96 946 1,042 2,143
$$ e ERE R 713 1,099 183 757 940 2,039
¥ 2 | QRN | ERERITEVLHHEE 1,662 0 0 0 0 0
%r ; NE | BrEREEss 0 0 34 85 119 119
e it 2,375 1,099 217 842 1,059 2,158
@-® 589 A2 121 A 104 17 15
A ABHRAREH 1,621 1,142 117 832 949 2,091
5 ;; HERERERR 713| 1099 183 757 940 2,039
g 2 (B FIFE| MRERGLHHE 1,662 0 0 0 0 0
e ; =] R R EEE 0 0 22 60 82 82
i e &t 2,375 1,099 205 817 1,022 2,121
B-A 754 A 43 88 A 15 73 30
% 1) A-@® A 165 41 21| A 114 A 93 A 52
= BERERERR 0 0 0 0 0
= ﬁf éf'é FeRERZ TG E 0 0 0 0 0
= R R EEE 0 A 12 A 25 A 37 A 37
2 (A)-(A) 165 A 41 A 33 89 56 15




HRPOBERY, A4 RADEEDORRFISONT

BRETEEHERBOREL

[(@JdLEER]
= RE
RIERXR D 12 2 35 _ &5t
FHEFAUNET ()57 1, 2% INET (25+35)
D= D RiAH 504 172 13 148 161 333
% ; BENERE R 83 172 24 74 08 270
% 2 |ORD | BREZIGVHHEE 634 0 0 0 0 0
it 7 AR BEMGRGREEE 0 0 0 0 0 0
El g it 717 172 24 74 98 270
@-® 213 0 11 A 74 A 63 A 63
A ABRAREH 490 176 5 116 121 297
5 ; BEHEREESR 35 172 24 74 98 270
g 2 (B FIFE| MRERILLHIE 634 0 0 0 0 0
% Z—F = HEMS AR EEE 0 0 0 0 0 0
5 E &t 669 172 24 74 98 270
B-A 179 A 4 19 A 42 A 23 A 27
%z (1) A-D A 14 4 A3 A 32 A 40 A 36
* BERERG MR A 48 0 0 0
= ET E(fé) REREZ (TR EE 0 0 0 0
L~ R R E S 0 0 0 0
2 (m)-(A) A 34 A4 8 32 40 36




HRPOBERY, A4 RADEEDORRFISONT

BEEHBEERRBOX L
(OL S|
] e =] RE
RERXSS 12 = 35 &5t
FHERALNAD = 0 1, 285 INEF (22+32)

DEDRAH 1,285 347 33 332 365 712
5; HEHEREER 450 323 48 179 227 550
% 2 |ORD | BREZIGVHHEE 910 0 0 0 0
it 7 AE HEMBTRESEE 0 0 20 24 24

B & =
& 5 1,360 323 52 199 251 574
@-® 75 A 24 19| A 133] A 114 A 138
A ARRIAREH 1,347 334 32 262 294 628
5 ; EEHE BB 528 348 42 185 227 575
g o |B FIFEE| EEERHELSHKE 910 0 0 0 0
% 7 =} HEMSEGEESE 0 0 20 24 24
5Ri 5t 1,438 348 46 205 251 599

>Z

B-A 91 14 14 A 57 A 43 A 29
x (1) A-@® 62 A 13 A 1 A 70 A 71 A 84
f o S ERERE S 78 25 A6 25

& (m e (e
= E| B-® HEREZ TRV E 0 0 0
= R R E S 0 0 0
) (a)-(A) 16 38 A5 76 71 109




HRPOBERY, A4 RADEEDORRFISONT

BEHELRRMOR (@)
[=]
] %E RE
RERXRS 12 = 3= &5t
FHEFALUNES = 0i% 1, 2% INET (25+38)
DEDRAH 2,236 706 74 561 635 1,341
5; EEHE BB 14 650 132 396 528 1178
% 2 |ORD | BREZIGVHHEE 1,090 0 0 0 0 0
A7 NE | BEEREEER 0 0 8 30 38 38
B & z
e &t 2231 650 140 426 566 1,216
>Z
@-® A5 A 56 66| A 135 A 69 A 125
A ARRIAREH 2172 746 78 535 613 1,359
5 ; EEHE BB 1142 649 132 396 528 1177
g o |B mEz| BRERHLLYHE 1,090 0 0 0 0 0
% 7 =} HEMSEGEESE 0 0 8 30 38 38
5Ri 5t 2232 649 140 426 566 1,215
>Z
B-A 60 A 97 62| A 109 A 47 A 144
%z (€4) A-@ A 64 40 4 A 26 A 22 18
= BEREREER 1 A 0 A
L E(fé RRER T HHRE 0 0 0 0
L~ e R RE SR 0 0 0
) (a)-(A) 65 A 41 A 4 26 22 A 19




HRPOBERY, A4 RADEEDORRFISONT

BERFTEEIBRBO L
[(BFEER)]
= RE
mERXS 1E2 )2 35 _ &5t
FHERRUNST 0% 1, 2% INET (25+38)
DEDRAH 1,920 516 33 441 474 990
$ J:FFZ BENERE R 5 494 61 274 335 829
2 ) |QOERD | BREZTEVYHHE 2,035 0 0 0 0 0
%r ; AAE HEMERREEE 0 0 5 14 19 19
= &t 2,050 494 66 288 354 848
@-® 130 A 22 33| A 153 A 120 A 142
A ABEBRAREH 1,970 507 44 367 411 918
5 ; HENERE R 5 494 61 274 335 829
g 2 (B FiME| MRERIGUHHE 2,035 0 0 0 0 0
5 ; = HEMBERKREEE 0 0 5 14 19 19
5 i &t 2,050 494 66 288 354 848
B-A 80 A 13 22 A 79 A 57 A 70
% 1) A-@® 50 A9 11 A 74 A 63 A 72
* BEREREMRSR 0 0 0 0 0
S Ejr E(:'é ERER (G HHEE 0 0 0 0 0
- BEMERREEE 0 0 0 0 0
2 (m)-(A) A 50 9 A 11 74 63 72




HRPOBERY, A4 RADEEDORRFISONT

BEXRMEERRBO*LE (@3t FE L)
= RE
RERXS 1E2 )2 3= _ &t
FHEFRLUN ST 0% 1, 2% INET (25+38)

D= D RiAH 592 269 23 204 227 496

$ J:FFE HEREREER 176 302 49 204 253 555

% 2 |ORD | BREZIGVHHEE 460 0 0 0 0

it 7 AR BEMGRGREEE 0 0 0 0 0

I £ &t 636 302 49 204 253 555

E

@-® 44 33 26 0 26 59

A ABHAREH 584 275 26 174 200 475

5 ; HERERERSR 181 302 49 204 253 555

g ) |B mmEe| RRERIRLYEE 460 0 0 0 0

% ; = HEMEIREEE 0 0 0 0 0

5 i it 641 302 49 204 253 555

B-A 57 27 23 30 53 80

% 1) A-@® A3 6 3 A 30 A 27 A 21
= BEREREMER 5 0 0
S Ejr E(:'é ERER (G HHEE 0 0 0
- HEHE R R EEE 0 0 0

2 (m)-(A) 13 A6 A3 30 27 21




HRPOBERY, A4 RADEEDORRFISONT

EXHEERRBOX L
[@DILER)
) 8B e
ERX 5 12 = 35 &5t
FHERAUA S = 05 1 255 et (2E+32)
DENDRAH 647 516 39 325 364 880
$;F’z REHERERR 370 493 70 264 334 827
% 2 |ORD | BREZHGVLHHEER 710 0 0 0 0
7| AR eI RR SR 0 0 0 0 0
pa z 1,080 493 70 264 334 827
@-@ 433 A 23 31 A 61 A 30 A 53
A ARBRAREH 649 499 45 281 326 825
5 ;FZ EEHE BB 369 485 66 248 314 799
g o |B mEz| BRERHLLYHE 710 0 0 0 0 0
e 7 =} HEMSEGEEEE 0 0 0 0 0 0
iﬂi £t 1,079 485 66 248 314 799
>Z

B-A 430 A 14 21 A 33 A 12 A 26
= 1) A-O 2 A 17 6 A 44 A 38 A 55
%r o S ERE RS A 1 A8 A 4 A 16 A 20 A 28

H 0 .
= E| B-® REREZ (T S E 0 0 0 0 0
- BEMEBREEE 0 0 0 0 0
) (@) -(A) A3 9 A 10 28 18 27




HRPOBERY, A4 RADEEDORRFISONT

BEXRMEERRBO*LE (@3t&]
= RE
RERXS 1E2 )2 3= _ &t
FHEFRLUN ST 0% 1, 2% INET (25+38)

D= D RiAH 339 284 19 131 150 434

$ J:FFE HEREREER 165 290 38 132 170 460

% 2 |ORD | BREZIGVHHEE 310 0 0 0 0

E ; SES BEMGRGREEE 0 0 0 0 0

= &t 475 290 38 132 170 460

@-® 136 6 19 1 20 26

A ABHAREH 307 287 18 152 170 457

5 ; HERE BB R 165 290 38 132 170 460

g 2 (B FiME| MRERIGUHHE 310 0 0 0 0

e ; =} MR R EEE 0 0 0 0 0

5 i &t 475 290 38 132 170 460

B-A 168 3 20 A 20 0 3

% 1) A-@® A 32 3 A 1 21 20 23
= BEREREMER 0 0
S Ejr E(:'é ERER (G HHEE 0 0
- BEMERREEE 0 0

2 (m)-(A) 32 A3 1 A 21 A 20 A 23




HRPOBERY, A4 RADEEDORRFISONT

BEXRMEERRBO*LE (Ot E)
= RE
RERXD 12 )2 35 _ &5t
FHEFRLUN ST 0% 1, 2% INET (25+38)

DEDNRAH 10 21 0 10 10 31

$ J:FFE HEREREER 0 21 0 10 10 31
% 2 |ORD | BREZIGVHHEE 0 0 0 0
it 7 AR BEMGRGREEE 0 0 0 0

El g &t 0 21 0 10 10 31

@-® A 10 0 0 0 0 0

A ABERRAREH 0 24 0 7 7 31

5 ; HERERE R 10 21 0 10 10 31

g o |B FIFEE| EEERHELSHKE 0 0 0 0 0

% ; = HEMEIREEE 0 0 0 0 0

N = Hi 10 21 0 10 10 31

B-A 10 A3 0 3 3 0

% 1) A-@® A 10 3 0 A3 A3 0

= BEREREMER 10 0 0 0 0 0

= Ejr E(:'é RREZ RV HH#E 0 0 0 0 0 0

L~ BEhERREEE 0 0 0 0 0 0

2 (m)-(A) 20 A3 0 3 3 0
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